

FURTHER THEOREMS OF PROPOSITIONAL CALCULUS

MICHAEL MEYLING

ABSTRACT. This module includes proofs of propositional calculus theorems. The following theorems and proofs are adapted from D. Hilbert and W. Ackermann's 'Grundzuege der theoretischen Logik' (Berlin 1928, Springer)

CONTENTS

module specification	1
	7

MODULE SPECIFICATION

Author of this module:

Michael Meyling

michael@meyling.com

This module has the following specification:

Name: prophilbert3
Version: 1.00.00
Rule version: 1.02.00
Origin: http://www.meyling.com/principia/0_00_51/prophilbert3_1.00.00_1.02.00.qedeq

The following modules were used:

Name: prophilbert2
Version: 1.00.00
Rule version: 1.02.00
Origin: [prophilbert2_1.00.00_1.02.00.qedeq](#)
pdf: [prophilbert2_1.00.00_1.02.00.pdf](#)

Is used by the following modules:

Name: predtheo2
Version: 1.00.00
Rule version: 1.02.00
Origin: [predtheo2_1.00.00_1.02.00.qedeq](#)
pdf: [predtheo2_1.00.00_1.02.00.pdf](#)

First distributive law (first direction):

Theorem 0.1.

$$((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A)))$$

Proof.

1	$((P \wedge Q) \Rightarrow P)$	add sentence hilb24
2	$((P \wedge A) \Rightarrow P)$	replace Q by A in 1
3	$((B \wedge A) \Rightarrow B)$	replace P by B in 2
4	$((Q \wedge A) \Rightarrow Q)$	replace B by Q in 3
5	$((P \Rightarrow Q) \Rightarrow ((A \vee P) \Rightarrow (A \vee Q)))$	add axiom axiom4
6	$((P \Rightarrow Q) \Rightarrow ((B \vee P) \Rightarrow (B \vee Q)))$	replace A by B in 5
7	$((P \Rightarrow C) \Rightarrow ((B \vee P) \Rightarrow (B \vee C)))$	replace Q by C in 6
8	$((D \Rightarrow C) \Rightarrow ((B \vee D) \Rightarrow (B \vee C)))$	replace P by D in 7
9	$((D \Rightarrow C) \Rightarrow ((P \vee D) \Rightarrow (P \vee C)))$	replace B by P in 8
10	$((D \Rightarrow Q) \Rightarrow ((P \vee D) \Rightarrow (P \vee Q)))$	replace C by Q in 9
11	$((Q \wedge A) \Rightarrow Q) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow (P \vee Q))$	replace D by $(Q \wedge A)$ in 10
12	$(P \vee (Q \wedge A)) \Rightarrow (P \vee Q)$	MP with 4, 11
13	$(P \wedge Q) \Rightarrow Q$	add sentence hilb25
14	$(P \wedge A) \Rightarrow A$	replace Q by A in 13
15	$(B \wedge A) \Rightarrow A$	replace P by B in 14
16	$(Q \wedge A) \Rightarrow A$	replace B by Q in 15
17	$(D \Rightarrow A) \Rightarrow ((P \vee D) \Rightarrow (P \vee A))$	replace C by A in 9
18	$((Q \wedge A) \Rightarrow A) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow (P \vee A))$	replace D by $(Q \wedge A)$ in 17
19	$(P \vee (Q \wedge A)) \Rightarrow (P \vee A)$	MP with 16, 18
20	$P \Rightarrow (Q \Rightarrow (P \wedge Q))$	add sentence hilb28
21	$P \Rightarrow (A \Rightarrow (P \wedge A))$	replace Q by A in 20
22	$B \Rightarrow (A \Rightarrow (B \wedge A))$	replace P by B in 21
23	$B \Rightarrow ((P \vee A) \Rightarrow (B \wedge (P \vee A)))$	replace A by $(P \vee A)$ in 22
24	$(P \vee Q) \Rightarrow ((P \vee A) \Rightarrow ((P \vee Q) \wedge (P \vee A)))$	replace B by $(P \vee Q)$ in 23
25	$(P \Rightarrow Q) \Rightarrow ((A \Rightarrow P) \Rightarrow (A \Rightarrow Q))$	add sentence hilb1
26	$(P \Rightarrow Q) \Rightarrow ((B \Rightarrow P) \Rightarrow (B \Rightarrow Q))$	replace A by B in 25
27	$(P \Rightarrow C) \Rightarrow ((B \Rightarrow P) \Rightarrow (B \Rightarrow C))$	replace Q by C in 26
28	$(D \Rightarrow C) \Rightarrow ((B \Rightarrow D) \Rightarrow (B \Rightarrow C))$	replace P by D in 27
29	$(D \Rightarrow C) \Rightarrow (((P \vee (Q \wedge A)) \Rightarrow D) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow C))$	replace B by $(P \vee (Q \wedge A))$ in 28
30	$(D \Rightarrow ((P \vee A) \Rightarrow ((P \vee Q) \wedge (P \vee A)))) \Rightarrow$ $((P \vee (Q \wedge A)) \Rightarrow D) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow$ $((P \vee A) \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	replace C by $((P \vee A) \Rightarrow ((P \vee Q) \wedge (P \vee A)))$ in 29
31	$((P \vee Q) \Rightarrow ((P \vee A) \Rightarrow ((P \vee Q) \wedge (P \vee A)))) \Rightarrow$ $((P \vee (Q \wedge A)) \Rightarrow (P \vee Q)) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow$ $((P \vee A) \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	replace D by $(P \vee Q)$ in 30
32	$((P \vee (Q \wedge A)) \Rightarrow (P \vee Q)) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow$ $((P \vee A) \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	MP with 24, 31
33	$(P \vee (Q \wedge A)) \Rightarrow ((P \vee A) \Rightarrow ((P \vee Q) \wedge (P \vee A)))$	MP with 12, 32
34	$(P \Rightarrow (Q \Rightarrow A)) \Rightarrow (Q \Rightarrow (P \Rightarrow A))$	add sentence hilb16
35	$(P \Rightarrow (Q \Rightarrow B)) \Rightarrow (Q \Rightarrow (P \Rightarrow B))$	replace A by B in 34
36	$(P \Rightarrow (C \Rightarrow B)) \Rightarrow (C \Rightarrow (P \Rightarrow B))$	replace Q by C in 35
37	$(D \Rightarrow (C \Rightarrow B)) \Rightarrow (C \Rightarrow (D \Rightarrow B))$	replace P by D in 36
38	$(D \Rightarrow (C \Rightarrow ((P \vee Q) \wedge (P \vee A)))) \Rightarrow (C \Rightarrow$ $(D \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	replace B by $((P \vee Q) \wedge (P \vee A))$ in 37

39	$((D \Rightarrow ((P \vee A) \Rightarrow ((P \vee Q) \wedge (P \vee A)))) \Rightarrow ((P \vee A) \Rightarrow (D \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	replace C by $(P \vee A)$ in 38
40	$((((P \vee (Q \wedge A)) \Rightarrow ((P \vee A) \Rightarrow ((P \vee Q) \wedge (P \vee A)))) \Rightarrow ((P \vee A) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	replace D by $(P \vee (Q \wedge A))$ in 39
41	$((P \vee A) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	MP with 33, 40
42	$((D \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A)))) \Rightarrow (((P \vee (Q \wedge A)) \Rightarrow D) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	replace C by $((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A)))$ in 29
43	$((((P \vee A) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A)))) \Rightarrow (((P \vee (Q \wedge A)) \Rightarrow (P \vee A)) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	replace D by $(P \vee A)$ in 42
44	$((((P \vee (Q \wedge A)) \Rightarrow (P \vee A)) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	MP with 41, 43
45	$((P \vee (Q \wedge A)) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	MP with 19, 44
46	$((P \Rightarrow (P \Rightarrow Q)) \Rightarrow (P \Rightarrow Q))$	add sentence hilb33
47	$((P \Rightarrow (P \Rightarrow A)) \Rightarrow (P \Rightarrow A))$	replace Q by A in 46
48	$((B \Rightarrow (B \Rightarrow A)) \Rightarrow (B \Rightarrow A))$	replace P by B in 47
49	$((B \Rightarrow (B \Rightarrow ((P \vee Q) \wedge (P \vee A)))) \Rightarrow (B \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	replace A by $((P \vee Q) \wedge (P \vee A))$ in 48
50	$((((P \vee (Q \wedge A)) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A)))) \Rightarrow ((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A))))$	replace B by $(P \vee (Q \wedge A))$ in 49
51	$((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A)))$	MP with 45, 50

□

First distributive law (second direction):

Theorem 0.2.

$$(((P \vee Q) \wedge (P \vee A)) \Rightarrow (P \vee (Q \wedge A)))$$

Proof.

1	$(P \Rightarrow (Q \Rightarrow (P \wedge Q)))$	add sentence hilb28
2	$(P \Rightarrow (A \Rightarrow (P \wedge A)))$	replace Q by A in 1
3	$(B \Rightarrow (A \Rightarrow (B \wedge A)))$	replace P by B in 2
4	$(Q \Rightarrow (A \Rightarrow (Q \wedge A)))$	replace B by Q in 3
5	$((P \Rightarrow Q) \Rightarrow ((A \vee P) \Rightarrow (A \vee Q)))$	add axiom axiom4
6	$((P \Rightarrow Q) \Rightarrow ((B \vee P) \Rightarrow (B \vee Q)))$	replace A by B in 5
7	$((P \Rightarrow C) \Rightarrow ((B \vee P) \Rightarrow (B \vee C)))$	replace Q by C in 6
8	$((D \Rightarrow C) \Rightarrow ((B \vee D) \Rightarrow (B \vee C)))$	replace P by D in 7
9	$((D \Rightarrow C) \Rightarrow ((P \vee D) \Rightarrow (P \vee C)))$	replace B by P in 8
10	$((D \Rightarrow (Q \wedge A)) \Rightarrow ((P \vee D) \Rightarrow (P \vee (Q \wedge A))))$	replace C by $(Q \wedge A)$ in 9
11	$((A \Rightarrow (Q \wedge A)) \Rightarrow ((P \vee A) \Rightarrow (P \vee (Q \wedge A))))$	replace D by A in 10
12	$((P \Rightarrow Q) \Rightarrow ((A \Rightarrow P) \Rightarrow (A \Rightarrow Q)))$	add sentence hilb1
13	$((P \Rightarrow Q) \Rightarrow ((B \Rightarrow P) \Rightarrow (B \Rightarrow Q)))$	replace A by B in 12
14	$((P \Rightarrow C) \Rightarrow ((B \Rightarrow P) \Rightarrow (B \Rightarrow C)))$	replace Q by C in 13
15	$((D \Rightarrow C) \Rightarrow ((B \Rightarrow D) \Rightarrow (B \Rightarrow C)))$	replace P by D in 14
16	$((D \Rightarrow C) \Rightarrow ((Q \Rightarrow D) \Rightarrow (Q \Rightarrow C)))$	replace B by Q in 15
17	$((D \Rightarrow ((P \vee A) \Rightarrow (P \vee (Q \wedge A)))) \Rightarrow ((Q \Rightarrow D) \Rightarrow (Q \Rightarrow ((P \vee A) \Rightarrow (P \vee (Q \wedge A))))$	replace C by $((P \vee A) \Rightarrow (P \vee (Q \wedge A)))$ in 16

18	$((A \Rightarrow (Q \wedge A)) \Rightarrow ((P \vee A) \Rightarrow (P \vee (Q \wedge A)))) \Rightarrow$ $((Q \Rightarrow (A \Rightarrow (Q \wedge A))) \Rightarrow (Q \Rightarrow ((P \vee A) \Rightarrow$ $(P \vee (Q \wedge A))))))$	replace D by $(A \Rightarrow (Q \wedge A))$ in 17
19	$((Q \Rightarrow (A \Rightarrow (Q \wedge A))) \Rightarrow (Q \Rightarrow ((P \vee A) \Rightarrow$ $(P \vee (Q \wedge A))))))$	MP with 11, 18
20	$(Q \Rightarrow ((P \vee A) \Rightarrow (P \vee (Q \wedge A))))$	MP with 4, 19
21	$((P \Rightarrow (Q \Rightarrow A)) \Rightarrow (Q \Rightarrow (P \Rightarrow A)))$	add sentence hilb16
22	$((P \Rightarrow (Q \Rightarrow B)) \Rightarrow (Q \Rightarrow (P \Rightarrow B)))$	replace A by B in 21
23	$((P \Rightarrow (C \Rightarrow B)) \Rightarrow (C \Rightarrow (P \Rightarrow B)))$	replace Q by C in 22
24	$((D \Rightarrow (C \Rightarrow B)) \Rightarrow (C \Rightarrow (D \Rightarrow B)))$	replace P by D in 23
25	$((D \Rightarrow (C \Rightarrow (P \vee (Q \wedge A)))) \Rightarrow (C \Rightarrow (D \Rightarrow$ $(P \vee (Q \wedge A))))))$	replace B by $(P \vee (Q \wedge A))$ in 24
26	$((D \Rightarrow ((P \vee A) \Rightarrow (P \vee (Q \wedge A)))) \Rightarrow ((P \vee A) \Rightarrow$ $(D \Rightarrow (P \vee (Q \wedge A))))))$	replace C by $(P \vee A)$ in 25
27	$((Q \Rightarrow ((P \vee A) \Rightarrow (P \vee (Q \wedge A)))) \Rightarrow ((P \vee A) \Rightarrow$ $(Q \Rightarrow (P \vee (Q \wedge A))))))$	replace D by Q in 26
28	$((P \vee A) \Rightarrow (Q \Rightarrow (P \vee (Q \wedge A))))$	MP with 20, 27
29	$((D \Rightarrow (P \vee (Q \wedge A))) \Rightarrow ((P \vee D) \Rightarrow (P \vee (P \vee$ $(Q \wedge A))))))$	replace C by $(P \vee (Q \wedge A))$ in 9
30	$((Q \Rightarrow (P \vee (Q \wedge A))) \Rightarrow ((P \vee Q) \Rightarrow (P \vee (P \vee$ $(Q \wedge A))))))$	replace D by Q in 29
31	$((D \Rightarrow C) \Rightarrow (((P \vee A) \Rightarrow D) \Rightarrow ((P \vee A) \Rightarrow C)))$	replace B by $(P \vee A)$ in 15
32	$((D \Rightarrow ((P \vee Q) \Rightarrow (P \vee (P \vee (Q \wedge A)))) \Rightarrow$ $((P \vee A) \Rightarrow D) \Rightarrow ((P \vee A) \Rightarrow ((P \vee Q) \Rightarrow$ $(P \vee (P \vee (Q \wedge A))))))$	replace C by $((P \vee Q) \Rightarrow (P \vee$ $(P \vee (Q \wedge A)))$ in 31
33	$((Q \Rightarrow (P \vee (Q \wedge A))) \Rightarrow ((P \vee Q) \Rightarrow (P \vee (P \vee$ $(Q \wedge A)))) \Rightarrow (((P \vee A) \Rightarrow (Q \Rightarrow (P \vee (Q \wedge A)))) \Rightarrow$ $((P \vee A) \Rightarrow ((P \vee Q) \Rightarrow (P \vee (P \vee (Q \wedge A))))))$	replace D by $(Q \Rightarrow (P \vee (Q \wedge A)))$ in 32
34	$((P \vee A) \Rightarrow (Q \Rightarrow (P \vee (Q \wedge A))) \Rightarrow ((P \vee A) \Rightarrow$ $((P \vee Q) \Rightarrow (P \vee (P \vee (Q \wedge A))))))$	MP with 30, 33
35	$((P \vee A) \Rightarrow ((P \vee Q) \Rightarrow (P \vee (P \vee (Q \wedge A))))$	MP with 28, 34
36	$((P \vee A) \Rightarrow ((P \vee Q) \Rightarrow ((P \vee P) \vee (Q \wedge A))))$	elementary equivalence in 35 at 1 of hilb14 with hilb14
37	$((P \vee A) \Rightarrow ((P \vee Q) \Rightarrow (P \vee (Q \wedge A))))$	elementary equivalence in 36 at 1 of hilb11 with hilb11
38	$((D \Rightarrow ((P \vee Q) \Rightarrow (P \vee (Q \wedge A)))) \Rightarrow ((P \vee Q) \Rightarrow$ $(D \Rightarrow (P \vee (Q \wedge A))))))$	replace C by $(P \vee Q)$ in 25
39	$((P \vee A) \Rightarrow ((P \vee Q) \Rightarrow (P \vee (Q \wedge A))) \Rightarrow$ $((P \vee Q) \Rightarrow ((P \vee A) \Rightarrow (P \vee (Q \wedge A))))$	replace D by $(P \vee A)$ in 38
40	$((P \vee Q) \Rightarrow ((P \vee A) \Rightarrow (P \vee (Q \wedge A))))$	MP with 37, 39
41	$((P \Rightarrow (Q \Rightarrow A)) \Rightarrow ((P \wedge Q) \Rightarrow A))$	add sentence hilb29
42	$((P \Rightarrow (Q \Rightarrow B)) \Rightarrow ((P \wedge Q) \Rightarrow B))$	replace A by B in 41
43	$((P \Rightarrow (C \Rightarrow B)) \Rightarrow ((P \wedge C) \Rightarrow B))$	replace Q by C in 42
44	$((D \Rightarrow (C \Rightarrow B)) \Rightarrow ((D \wedge C) \Rightarrow B))$	replace P by D in 43
45	$((D \Rightarrow (C \Rightarrow (P \vee (Q \wedge A)))) \Rightarrow ((D \wedge C) \Rightarrow$ $(P \vee (Q \wedge A))))$	replace B by $(P \vee (Q \wedge A))$ in 44
46	$((D \Rightarrow ((P \vee A) \Rightarrow (P \vee (Q \wedge A)))) \Rightarrow ((D \wedge (P \vee$ $A)) \Rightarrow (P \vee (Q \wedge A))))$	replace C by $(P \vee A)$ in 45
47	$((P \vee Q) \Rightarrow ((P \vee A) \Rightarrow (P \vee (Q \wedge A))) \Rightarrow$ $((P \vee Q) \wedge (P \vee A)) \Rightarrow (P \vee (Q \wedge A)))$	replace D by $(P \vee Q)$ in 46
48	$((P \vee Q) \wedge (P \vee A)) \Rightarrow (P \vee (Q \wedge A))$	MP with 40, 47

□

A form for the abbreviation rule form for disjunction (first direction):

Theorem 0.3.

$$((P \vee Q) \Rightarrow \neg(\neg P \wedge \neg Q))$$

Proof.

1	$(P \Rightarrow P)$	add sentence hilb2
2	$(Q \Rightarrow Q)$	replace P by Q in 1
3	$((P \vee Q) \Rightarrow (P \vee Q))$	replace Q by $(P \vee Q)$ in 2
4	$((P \vee Q) \Rightarrow \neg\neg(P \vee Q))$	elementary equivalence in 3 at 5 of hilb5 with hilb5
5	$((P \vee Q) \Rightarrow \neg\neg(\neg\neg P \vee Q))$	elementary equivalence in 4 at 8 of hilb5 with hilb5
6	$((P \vee Q) \Rightarrow \neg\neg(\neg\neg P \vee \neg\neg Q))$	elementary equivalence in 5 at 11 of hilb5 with hilb5
7	$((P \vee Q) \Rightarrow \neg(\neg P \wedge \neg Q))$	reverse abbreviation and in 6 at occurrence 1

□

A form for the abbreviation rule form for disjunction (second direction):

Theorem 0.4.

$$(\neg(\neg P \wedge \neg Q) \Rightarrow (P \vee Q))$$

Proof.

1	$(P \Rightarrow P)$	add sentence hilb2
2	$(Q \Rightarrow Q)$	replace P by Q in 1
3	$((P \vee Q) \Rightarrow (P \vee Q))$	replace Q by $(P \vee Q)$ in 2
4	$(\neg\neg(P \vee Q) \Rightarrow (P \vee Q))$	elementary equivalence in 3 at 2 of hilb5 with hilb5
5	$(\neg\neg(\neg\neg P \vee Q) \Rightarrow (P \vee Q))$	elementary equivalence in 4 at 5 of hilb5 with hilb5
6	$(\neg\neg(\neg\neg P \vee \neg\neg Q) \Rightarrow (P \vee Q))$	elementary equivalence in 5 at 8 of hilb5 with hilb5
7	$(\neg(\neg P \wedge \neg Q) \Rightarrow (P \vee Q))$	reverse abbreviation and in 6 at occurrence 1

□

By duality we get the second distributive law (first direction):

Theorem 0.5.

$$((P \wedge (Q \vee A)) \Rightarrow ((P \wedge Q) \vee (P \wedge A)))$$

Proof.

1	$((P \vee Q) \wedge (P \vee A)) \Rightarrow (P \vee (Q \wedge A))$	add sentence hilb37
2	$((P \Rightarrow Q) \Rightarrow (\neg Q \Rightarrow \neg P))$	add sentence hilb7
3	$((P \Rightarrow A) \Rightarrow (\neg A \Rightarrow \neg P))$	replace Q by A in 2
4	$((B \Rightarrow A) \Rightarrow (\neg A \Rightarrow \neg B))$	replace P by B in 3
5	$((B \Rightarrow (P \vee (Q \wedge A))) \Rightarrow (\neg(P \vee (Q \wedge A)) \Rightarrow \neg B))$	replace A by $(P \vee (Q \wedge A))$ in 4
6	$((((P \vee Q) \wedge (P \vee A)) \Rightarrow (P \vee (Q \wedge A))) \Rightarrow$ $(\neg(P \vee (Q \wedge A)) \Rightarrow \neg((P \vee Q) \wedge (P \vee A))))$	replace B by $((P \vee Q) \wedge (P \vee A))$ in 5
7	$(\neg(P \vee (Q \wedge A)) \Rightarrow \neg((P \vee Q) \wedge (P \vee A)))$	MP with 1, 6
8	$(\neg(P \vee \neg\neg(Q \wedge A)) \Rightarrow \neg((P \vee Q) \wedge (P \vee A)))$	elementary equivalence in 7 at 5 of hilb5 with hilb5
9	$(\neg(P \vee \neg\neg(Q \wedge A)) \Rightarrow \neg(\neg\neg(P \vee Q) \wedge (P \vee A)))$	elementary equivalence in 8 at 12 of hilb5 with hilb5
10	$(\neg(P \vee \neg\neg(Q \wedge A)) \Rightarrow \neg(\neg\neg(P \vee Q) \wedge \neg\neg(P \vee A)))$	elementary equivalence in 9 at 17 of hilb5 with hilb5
11	$(\neg(P \vee \neg\neg(Q \wedge B)) \Rightarrow \neg(\neg\neg(P \vee Q) \wedge \neg\neg(P \vee B)))$	replace A by B in 10
12	$(\neg(P \vee \neg\neg(C \wedge B)) \Rightarrow \neg(\neg\neg(P \vee C) \wedge \neg\neg(P \vee B)))$	replace Q by C in 11
13	$(\neg(D \vee \neg\neg(C \wedge B)) \Rightarrow \neg(\neg\neg(D \vee C) \wedge \neg\neg(D \vee B)))$	replace P by D in 12
14	$(\neg(D \vee \neg\neg(C \wedge \neg A)) \Rightarrow \neg(\neg\neg(D \vee C) \wedge \neg\neg(D \vee \neg A)))$	replace B by $\neg A$ in 13
15	$(\neg(D \vee \neg\neg(\neg Q \wedge \neg A)) \Rightarrow \neg(\neg\neg(D \vee \neg Q) \wedge \neg\neg(D \vee \neg A)))$	replace C by $\neg Q$ in 14
16	$(\neg(\neg P \vee \neg\neg(\neg Q \wedge \neg A)) \Rightarrow \neg(\neg\neg(\neg P \vee \neg Q) \wedge \neg\neg(\neg P \vee \neg A)))$	replace D by $\neg P$ in 15
17	$((P \wedge \neg(\neg Q \wedge \neg A)) \Rightarrow \neg(\neg\neg(\neg P \vee \neg Q) \wedge \neg\neg(\neg P \vee \neg A)))$	reverse abbreviation and in 16 at occurrence 1
18	$((P \wedge (Q \vee A)) \Rightarrow \neg(\neg\neg(\neg P \vee \neg Q) \wedge \neg\neg(\neg P \vee \neg A)))$	elementary equivalence in 17 at 1 of hilb39 with hilb39
19	$((P \wedge (Q \vee A)) \Rightarrow (\neg(\neg P \vee \neg Q) \vee \neg(\neg P \vee \neg A)))$	elementary equivalence in 18 at 1 of hilb39 with hilb39
20	$((P \wedge (Q \vee A)) \Rightarrow ((P \wedge Q) \vee \neg(\neg P \vee \neg A)))$	reverse abbreviation and in 19 at occurrence 1
21	$((P \wedge (Q \vee A)) \Rightarrow ((P \wedge Q) \vee (P \wedge A)))$	reverse abbreviation and in 20 at occurrence 1

□

The second distributive law (second direction):

Theorem 0.6.

$$(((P \wedge Q) \vee (P \wedge A)) \Rightarrow (P \wedge (Q \vee A)))$$

Proof.

1	$((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A)))$	add sentence hilb36
2	$((P \Rightarrow Q) \Rightarrow (\neg Q \Rightarrow \neg P))$	add sentence hilb7
3	$((P \Rightarrow A) \Rightarrow (\neg A \Rightarrow \neg P))$	replace Q by A in 2
4	$((B \Rightarrow A) \Rightarrow (\neg A \Rightarrow \neg B))$	replace P by B in 3
5	$((B \Rightarrow ((P \vee Q) \wedge (P \vee A))) \Rightarrow (\neg((P \vee Q) \wedge (P \vee A)) \Rightarrow \neg B))$	replace A by $((P \vee Q) \wedge (P \vee A))$ in 4
6	$((((P \vee (Q \wedge A)) \Rightarrow ((P \vee Q) \wedge (P \vee A))) \Rightarrow$ $(\neg((P \vee Q) \wedge (P \vee A)) \Rightarrow \neg(P \vee (Q \wedge A))))$	replace B by $(P \vee (Q \wedge A))$ in 5
7	$(\neg((P \vee Q) \wedge (P \vee A)) \Rightarrow \neg(P \vee (Q \wedge A)))$	MP with 1, 6

8	$(\neg((P \vee Q) \wedge (P \vee A)) \Rightarrow \neg(P \vee \neg\neg(Q \wedge A)))$	elementary equivalence in 7 at 13 of hilb5 with hilb5
9	$(\neg(\neg\neg(P \vee Q) \wedge (P \vee A)) \Rightarrow \neg(P \vee \neg\neg(Q \wedge A)))$	elementary equivalence in 8 at 4 of hilb5 with hilb5
10	$(\neg(\neg\neg(P \vee Q) \wedge \neg\neg(P \vee A)) \Rightarrow \neg(P \vee \neg\neg(Q \wedge A)))$	elementary equivalence in 9 at 9 of hilb5 with hilb5
11	$(\neg(\neg\neg(P \vee Q) \wedge \neg\neg(P \vee B)) \Rightarrow \neg(P \vee \neg\neg(Q \wedge B)))$	replace A by B in 10
12	$(\neg(\neg\neg(P \vee C) \wedge \neg\neg(P \vee B)) \Rightarrow \neg(P \vee \neg\neg(C \wedge B)))$	replace Q by C in 11
13	$(\neg(\neg\neg(D \vee C) \wedge \neg\neg(D \vee B)) \Rightarrow \neg(D \vee \neg\neg(C \wedge B)))$	replace P by D in 12
14	$(\neg(\neg\neg(D \vee C) \wedge \neg\neg(D \vee \neg A)) \Rightarrow \neg(D \vee \neg\neg(C \wedge \neg A)))$	replace B by $\neg A$ in 13
15	$(\neg(\neg\neg(D \vee \neg Q) \wedge \neg\neg(D \vee \neg A)) \Rightarrow \neg(D \vee \neg\neg(\neg Q \wedge \neg A)))$	replace C by $\neg Q$ in 14
16	$(\neg(\neg\neg(\neg P \vee \neg Q) \wedge \neg\neg(\neg P \vee \neg A)) \Rightarrow \neg(\neg P \vee \neg\neg(\neg Q \wedge \neg A)))$	replace D by $\neg P$ in 15
17	$(\neg(\neg(P \wedge Q) \wedge \neg\neg(\neg P \vee \neg A)) \Rightarrow \neg(\neg P \vee \neg\neg(\neg Q \wedge \neg A)))$	reverse abbreviation and in 16 at occurrence 1
18	$(\neg(\neg(P \wedge Q) \wedge \neg(P \wedge A)) \Rightarrow \neg(\neg P \vee \neg\neg(\neg Q \wedge \neg A)))$	reverse abbreviation and in 17 at occurrence 1
19	$(\neg(\neg(P \wedge Q) \wedge \neg(P \wedge A)) \Rightarrow (P \wedge \neg(\neg Q \wedge \neg A)))$	reverse abbreviation and in 18 at occurrence 1
20	$((P \wedge Q) \vee (P \wedge A) \Rightarrow (P \wedge \neg(\neg Q \wedge \neg A)))$	elementary equivalence in 19 at 1 of hilb39 with hilb39
21	$((P \wedge Q) \vee (P \wedge A) \Rightarrow (P \wedge (Q \vee A)))$	elementary equivalence in 20 at 1 of hilb39 with hilb39

□

This module used by the following modules:

Name: predtheo2
Version: 1.00.00
Rule version: 1.02.00
Origin: [predtheo2_1.00.00_1.02.00.qedeq](#)
pdf: [predtheo2_1.00.00_1.02.00.pdf](#)

E-mail address: principa@meyling.com